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#include <regh2.h> // 51 R R chEp 4k

#include <stdio.h>

#include <string.h>

#define LCDPPO // LCD #& % PO

#define uchar unsigned char

#define uint unsigned int

shit RS=P2°T;

shit RW=P27°6;

shit en=P2°5; //sbit RS=P2"7T;sbit RW=P2°6; sbit en=P275;

sbit BZ=P274; //

shit PUMP=P2°3; //

shit MOTER=P2°2; //

sbit DEX=P2°1; // -

sbit INX=P2°0; // +

shbit SET=P1°7; // SET

line[2] [16];

int

count, countl, count2, count3, DP , 1, j, k2, valu, fo, fot, SetTimeOK, SetTimeMa
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X, rpm, Srpm, Time, Sec=9000, rpmConTrol;

void check BF(void);
void Clr_StatusBuf();
void display(int Time, int rpm);

void con();
void tim2();
void init(void);
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void ValueTrans(int valu, j, 1);

void write_inst(char);

void write_char(char);
void check_BF(void);
void init LCM(void);

void main(void)

{

init_LCM();
init();

ET0 = 1;

line[0] [0]="P;
line[0] [1]="V;
line[0] [6]= "1 ;
line[0] [7]="p;
line[0] [8]="m’;
line[0] [13]="S;
line[0] [14]= "¢ ;
line[0] [15]= "¢ ;
line[1] [0]="S;
line[1] [1]="V;
line[1] [6]="1";
line[1] [7]="p;
line[1] [8]="m";

while (1)

{if(INX == 1 && DEX == 1){k2=0;}
else{ if (INX == 0 )Time += k2;

/H ARk K/

if (DEX == 0 )Time—-;
if (Time >= 9999 )Time = 9999;

if (Time <= 0
{Time = 0;
line[1]
line[1] [10]
line[1] [11]=

I = -

)

9]=

’N’
.
b

’D’

.
b

’E’
.
)

}

//3+ A e



else

{linel[1] [9]=" ’;
line[1] [10]=" "
line[1] [11]=" "3}
if(INX == 0 & SET== 0 && DP<=12){DP++;}
else {if(DP>=13)DP=1;}
if(DEX == 0 & SET== 0)DP=1;
display(Time, rpm );}}

FA = 1;}

/X Gt X/

void init(void)

{ IE=0x85;
[P=0x04;
TCON=0xb5A;

TMOD = 0x55;
SCON = 0x50;
PCON = 0x00;
T2CON=0x74;
TRO=1;

TRI = 1;

TR2 = 1; // SMOD=0
EA=1;

con();

tim2();

ET0=1;

ET1=1;

ET2=1;

DP=0x00;

count =0;
countl =0;
count2 =0;
countd =0;
k2=0;

DP=1;

rpm = 0 ;
SetTimeOK = 1 ;
rpmConTrol=Sec/60;

Time=600; }
void display(int Time, int rpm)
{ ValueTrans(rpm, 0,2 );



ValueTrans(Time, 0,9 );
ValueTrans(Srpm, 1,2 );
write_inst(0x80); /% 4p &% - #i=% LMC SI1C 16-01 LCD */
for (i=0;i<16;i++) /* i B */
{write_char(line[0] [i]);} /% &+ 16 Bx */
write_inst(0xc0); /X dp &% = 5|i=f */
for (i=0;i<16;i++) /* i B */
{write_char(line[1] [i]);} /% &+ 16 Bx */
}

void ValueTrans(int valu, j, 1)
{line[j][1i]= valu /1000 +0x30 ;
if(valu<=999)1lineljlli]l=" ;
line[j][i+1]= ( valu % 1000)/100+0x30 ;
if (line[j][i+1]==0x30 && valu<=99)line[j][i+l] =" ’;
line[ j][i+2]= ( valu % 100)/10 +0x30 ;
if (line[j][i+2]==0x30 && valu<=9)line[j][i+2] =" ’;
line[ j][i+3]= valu % 10 +0x30 ;
}
//====#”£é€£itj%§k(8fi:iiﬁﬁﬁ ¥ 3" )===================
void init_LCM(void)
{  write_inst(0x30);
write_inst(0x38); /X KT A ] K/
write_inst(0x06);
write_inst(0x0e);
write_inst(0x80);  /* 452 % - 7=k LMC SIC 16-01 LCD */
for (i=0;i<16;1++) /% i [B] */
{write_char(line[0] [i]=" " );} /% %=+ 16 Bx X/
write_inst(0xc0); /X dp &% = 5|i=f */
for (i=0;i<16;1++) /% i [B] */
{write_char(line[1] [i]=" ' );} /% %=+ 16 Bx X/

L

}
//====% ~4p & Sk
void write_inst(char inst)

{ RS =0; RW=0; /X OB o~ dp 4R K/
en = 1; /¥ FRae X/
LCDP = inst; /X B g s X/
en = 0; check BF(); /% == X/

} /X Sl g X/

[/====F » FH
void write_char(char character)



{ RS =1; RW=0; /X OB~ FRAER K/

en = 1; /X FRge X/
LCDP = character; /X B~ F X/
en = 0;check BF(); /% == X/

} /X Sl i X/

//====1& & 1+ B 3 ¥k

void check_BF(void)

{char i,x = 0x80; /X 7 2 Bk X/
while (x&0x80) /* % BF=1 R|#4 7% B] */
{ RS =0; RW=1; /% gfo~dp & 558 ¥/

en = 1; /X FRae X/
x = LCDP; /X @ Bdp s X/
en = 0; /¥ zoe X/
for (i=0;1<10;i++);}} /% wm BB L */
void tim2(void) /¥ PREE 2 5 2oms £ ¥ TH2 = TL2 */
{TH2=0xff;
TL2=0xc4; //% & & // 9b-117 ac-100 c4-124
TF2=0;
countl++;}
void con() //RAE/RREE FRV K
{ THO = 0;
TLO = 03}
void timer2() interrupt 5
{ count++;
count2++;

ET2 = 0;// BB 2 pF®E (¢ %
tim2O); //3 PR
ET2 = 1;// +BzpEE0? %
if(count>=Sec) // 1 sec unit
{fot = DP + 4 ;
Srpm = 60%fot;
if(Time>=1)Time—;
display(Time, rpm );
rpm = 0;
k2++;
if (fot <=9)
{if (rpm >= Srpm + 60)
{if(rpm >= Srpm + 120)SetTimeOK = SetTimeOK - 1;
else SetTimeOK = SetTimeOK - (rpm - Srpm)/60;}
else {if (rpm >= Srpm && rpm <= Srpm +10)SetTimeOK = SetTimeMax;
else {SetTimeOK = SetTimeOK + ( Srpm - rpm )/60;}
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if(rpm <= Srpm - 120)SetTimeOK = SetTimeOK + 1;} }

else{if (fot ==10 ) SetTimeOK = 12;
if (fot ==11 ) SetTimeOK = 14;
if (fot >=12 ) SetTimeOK = 16;}

if (SetTimeOK<= 1)SetTimeOK=1;
if (SetTimeOK>= 16)SetTimeOK=16;
SetTimeMax = SetTimeOK;

count = 0;}
else
{if(count2 >= rpmConTrol )
{ET0 = 0;
fo = 256XTHO + TLO ;
ET0 = 1;
count3d++;
rpm = fo + rpm
con() ;
if (fo >= fot)
{SetTimeMax— ;

if(fot <= 11){if (SetTimeMax <= 0)SetTimeMax=0;}
else{SetTimeMax = SetTimeOK - 1 ;}
if(rpm - fot*count3 == fot && fot <= 11 )SetTimeMax =
SetTimeOK ;}
else {SetTimeMax = SetTimeOK ; }
count2 = 0 ;
I // MC-1 2015-1-27 3vp =
else {if(count == 1650 && (Srpm - rpm) >= 3*fot && fot >=
11){SetTimeMax =(C Srpm - rpm )/fot- 3 ;}
else if(count == 1650 && (Srpm - rpm) <= 3*fot)SetTimeMax
= SetTimeOK;
if (countl <= SetTimeMax && Time >=1 )
{MOTER = 0 ;
if (rpm >= Srpm ) MOTER = 1;}
else {if (countl <= 30)
{MOTER = 1; }
else countl=0; }}}
return;
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